-12v.
Change R34 and R35 to 20 ohms, 1%
R34 Hﬁ 1v R36 is actually a zener diode...However a resistance of 500 ohms connected from Sense- and Vo- is
— A cotoL uza giving the right tolerance in the output DC voltage.
\ C18 RTOL 3 5V _REF
R ! 0.1u {20*tempco100} +Vol *
11K C10TOL REF 1
¥Sen | Vil T
DRV134 U7 TLE2022/302/TI 12V,
= c19 | enq d
0 = 0.1u -Sen 5V _REF
C10TOL R35 -Vo |
SGEXC—\ W— ez o
\ RTOL
’ {20*tempco100} c1oTOL
U1l 12V
- R36 R14 =
SMDJI12A M\
0 RTOL o 10k
{700"tempco100} TOLERANCE is TOL of the Vref IC as well as ppm.
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AW AW
\ 1k L \. 30.1k a2
: : R16
= g:m y 1 YV VMON M
RS g = R4 A 100 c10
AAA AAA ADB677 3.3nF R17
Wy W Mg
, 1k @.lk RS
10k
0 ~o
o
5V
S RO =, N
> lomeg ©
{4.99K*tempco25}
R31 R29
SGIN-. AM AN
Wy Wy
C14 RPTOL RPTOL \ & C13
= 0.1u {RFILT*tempco25} E cemy SGOUT
c1oToL c1oToL = ci6
s {CDIFF} {1K*tempco25}
0 0.1u R32 R30 c17 cloToL R18
SGIN+ C10TOL ANV AN {CCM} 1Meg
RPTOL RPTOL \ cioroL
L {4.99K*tempco25} {RFILT*tempco25} :
< R21 =
b3 0
< 100Meg e
5V
5V 12V 0.5V,
. V6 . \'
svdc: = N
I 12vdc- 0.5Vdc.
PARAMETERS: TOLERANCES o o —|; .
Ibias =0 RESISTORS
Voffset = 0 RTOL=1%
RPTOL =0.1%
VPOS =5 RPPTOL =0.05%
VNE( V
RFILT = 20k
change R31 to 4.99K, 0.1%
CDIFF = 22nF
s Change R29 to 20K, 0.1%
Change Gain resistor R33 to 1K, 0.1%
4
ppm25 = 2.5¢-5
tempco25 = {1+ppm25*(TA-25)} M
tempcol0 = {1+ppm10*(TA-25)}
tempco100 = {1+ppm100*(TA-25)}
Rvar = 100
Rpar = 1m
Cfilt = 1F
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